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(Sn_1,,Sn;,on(in), 0, T = t,)
godouououooououoouooooo
state = S, 1 N on_1(intf) = false Nop,, NT =t, — o,(intf) := true; state :== S,
state = Sp_1, Nop(extl) =true NT =t, — oy, := false; state := S,

000 o, 1(intf) = falseDDOOOOOOOOODOOOOODODOODODOTI/OODODOO
gbbU0e, 00000, U000OUOODODOe, UDO0O0OOOOOOOOOOODOO0O
gbobbuooogbbbuoooobbboooobbbooobobobboogboboo

state = Sp_1, —> oy, (intf) = true
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state = S, A\ o, (intf) = true A on;(extl) = false — oy, (intf) ;= false

OO00000 stated 00O S, 0000 0, = falseOODOOOO
00000001/0000000000000000000000000DO00DO0
OooooI/oo0o0oooooo

(Sp_1,Sn,on(out), 0, T =t,)
(Sn_1,,Sn;,on(in), 0, T = t,)
doooooooooooooon
state = Sp_1 N op_1(intf) = false Nop, NT =t, — op(intf) = true; state :== S,
state = S, A\ o (intf) = true A oy, (extl) = false — op(intf) = false
state = S, 1, —> op, (intf) = true
state = S, 1, N o, (extl) =true NT =t, — o,, := false; state := S,

gooo
O0000O.,=1000000T1/0000000000000

<S()7 517 UI(OUt), (b, T = t1>
<Soi7 Slia O-l(in), @, T = t1>

00000000 S0000 S 0T7T=000000(eut) 00000000O00O00O0O0O
000 S, 00005, 0T=,000000@6GEn)0000000000O0O00OO0OOO0O
goobooooobooo

state = Sy, — oy, (intf) = true
state = Sy N og(intf) = false A oy, (extl) = true NT =t, — oy(intf) := true; state := Sy
state = Sy, N\ oy (extl) =true NT =t; — oy, := false; state :== S}

state = Sy A oy (intf) = true A o1, (extl) = false — oy(intf) := false

18



OO00oooooo0ooooboobooobooooboooooonon statedd O S0
S, U000 00O trued 000000, O true0 00000000 0OOOODOODOO
gobbbbbbddtbeoobbbbbbooooobbbbbuoooooon
Ofalse0 0000000000000, 000 trued0000 stated D00 505,00
OO0000000000bO0bO0obO0obO0b00o0obO0ob0obOobDODtfalsebobgn
0000001[/00000000000000000O000000O00OOO00ODOOO0O
gbooboogn

00000000 n>100000000000004000000001/00000
gbobobuooooobbuoooobon

000000000000 I/o000000o0o0ooOooo0o0o0oooooooooo
0000000000000 000o0o0ooooOooI/ooooooooooooooboo
gobooo

gooboooboboboboboboobobroooooboobooobobg
[/O00000000000000O0O00000O0OT=000000000000000
O0T7T=0000000000000000000000000O0TI/00OO0OOOO
000000000000 000000O00ooooooooooooI/oooooboo
gbogbobobuogbboobooobuobboobobuoobboobobobon
000I1[/00000000000000000000000O0

00000000 l/joooo000ooo0ooo0oo0o0oooooooooooo
gboobuoodgobood

00 /jO000000000ooooood

a(int),x<3 b(int),x<5
solx = 0] ————— s1[x = 2] ————— so[x = 3]

0000000000000000000 (int)d (out) 0000000000 OOODOO
oooooogooodgo
OO0 l/joooooooooon
(50, 51, a(int), D,z < 3),
(s1, 89, b(int), 0,z < 5)
HNERERE
O0ooooooooooooooooooogn
state = sy Ax < 3 — state := sy; a(priv) = true,

a(priv) = true — a(priv) := false,

19



state = sy Ax < b5 — state := so; b(priv) = true,

b(priv) = true — b(priv) := false

000000000 0O0O0O0O0O0O0O0C0OO0DOO (privy0000000O0O0OOOOOO
goo
000000 (0000000000 o)oooooog

(s0, 2 = 0),

(s1,2 =2),

(89,2 = 3)
gogg

gbuogbgobooobuogobbubuoobboobobooobbuooooboon
gogoboogobodbboobbuoobbuoboobobbuoobooboooon

a(priv):=true a( riv)::falseSIate‘:Sl
stafe:=s: P

b(priv):=true
state:=s

U 3l:0000b00bb0000boobuoaon

gbobbooobobbboooobbbod

{state = s,z = 0,a(priv) = false,b(priv) = false}
— {state = s1,x = 2,a(priv) = true, b(priv) = false}
— {state = s,z = 2,a(priv) = false, b(priv) = false}
) = false, b(priv) = true}
)

(
— {state = sy, x = 3, a(priv
( false, b(priv) = false}

— {state = sy, x = 3, a(priv

00000000 stated x0000000C[JO0D00C0OO0OOOOO0OOOOOOOO
gbobobuoogoobobuooooboon
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3.2 OO0OOOOOOOOO

gobod2.000b000gobbooggobbogooboban

3.21 0OO0OOO

0000000000 I/JO0000000000oooooooooooooooong
goo
gbuogobdoboobbuoguoboooobbooobbuooboooboobon
O00000000oooooool/jooo00ooo00oooooooooooooboo
gboboboodgobboodon
gbuogbboobodgbbboobboobuoobboooboobbboobbod
gbooboobbodbbuoobooobooobobobbobuoobboboon
gooboggd

000 (CO0O0O00) 0000000000000 00oo0ODOO0OO0ooOoOn
000 (CO0O0O00) 0000000000000 00oo0ODOO0OO0ooOoOn

000 (@CoO0O0O00) oooo0oooo0o0o0o0ooooOo0Uooooooooooo
goooo

000 (CoO0O00) 0000000000000 0ooOoOOo0O0o0ooDoDoUUDbooOoOO

000 (CO0O0O0) 000000000000 00000000DO0OO0oDOooooOoOO
gbooogggoood

000 (CO0O0O000) O0000000000000ooODOOo0ooOooOO

gboboboggobboooobobod

000 (ooooo)

00000I/jo00000000000000o0o0oo0o0D0oo0ooooooog
gbobbuooogobobuoooobo
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gboogobbbbbbobobobbbbbbbobbbbbbbbooooobbbn
state0 00O S,.,00 S, 000000000 A0D0QOO0O0DOOS,0068,,0000
ooooo 0000

OO0DbO0bO0o0O A0 BOOOOOOOO

state = S,_1 N\ 0, = true N\ §,, — state := .5,
state = S, A opy1 = true A 6, — state := S,

Ooooo40000000000D0O0OO0O0O0 AD BOODOOOODOODDOOO
gbooboobobbuoooobbobboobooobuooobobboobon
00000 A0 BOOOODOOOOoooooooooboo

e A0l BOOODODODODOOOODDODOOO

e Al BOODOOODODOO

e ADOODDODOODODODODUODDOOOODO(BOODDODDODODODODODODODOODOODOO)O
e U0stateD OO S, 0000000 AQ00ODODOO

gobbuoo40d0bbobuogobobbuoooobboooooobbbouooooboood
OOoo00obobooooobooboobobooboooooobob coooooDo

state = S, 1 N o, = true A o,41 = true A6, — state := S, 1

Ooobobooooboboooooooobocb Aobooooboooocooooobo

0oo(Qooon)

000000000 I/joooooooOoooOoOoOoOoOoOoOoOoOoOOOOOoOOOO
gbobboooobbbuooobobbboooboboo

oobooboboboobobobobobobobbobomoooboobobobobg
obhmogbogobooboobomobooboboobobbooobobobooobg
gboboboogoboomwooboogan

state = S,_1 Nd, — o, := true;state := S,
state = S, N0y, — Opy1 = true; state := Sy, 1
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000000 A0 pOO40000000000C00O0O0O0OOOODOOOOODOO
oooocoooogon

state = S, 1 N0, — 0, = true;o, 1 = true; state :== S, 1

000 (ooooo)

gbuogobodbdobbuoobboobobobbobbooobuoobbobon
googobuogbbodbobbooboobbuoobbouoobouoooobobon
0000000000000 000O000C00O00oo0ooOoooooI/oo0boO
gbobogudboooobuogbobogbuogobobboobbogboooboobobon
gbbooboouobbuoobbbobuoobboobbobobooooboooboon
O0AD BOOOOODOODOOOOOODADABOOOD400000000O

state = S,_1 N\ 0, = true N\ §,, — state := .5,

state = S, A\ oy 1 = true A 6, — state := S,

state = S, 1 N opi1 = true Ao, — state:= 95,

state = S, A o, = true A 6, —> state ;= S,
O0400000000000000 200000

state = S,_1 Ao, = true A op 1 = true A6, —> state : = Sy

state = S, 1 N opi1 = true A o, = true A6, — state := S, 41

gb2000000000b000buoodbobboobbobboooooboon
gbobobooooboo

000 (Qooon)

gbhuogobodgbogooobuobogbboobobuoobboobooobuooon
OO000obobo0oobo0o AUbooooboobobo BOUOobOooo

state = S,_1 N\ 0, = true N\ §,, — state := .5,
state = S, N0, — 0,11 = true; state :== S, 1

00000 A0 pOOOOODOOODOODOOO
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e AJODOOUOUDDOOODDODODOOO
e Al BOODOOODODOO
e pUUODODOOUODLDDODO

gbobbug3gobbbuogbbbuooogbbooooobbooooooboog
Oooobobooooooobooboboooooooobob cooooon

state = S,_1 Ao, =true A 6, —> opi1 = true; state := Sy

000 (Qooo)

001/0000000000000000000000000000O0O000O000O0O
gboboggbooboguogbbuodbbooboobuoobbuooooobooboon
OAD BOCUODODOOOOODODOODODODODOODOODOODODODODOOOOOO

state = S, N o1 = true A o,y — state := S,
state = S, Ao, =true A, — state := S,y
state = S, Ao, = true A d,41 — state := S,y

0000000000 state000000 0%,,000,,00,,,00",00000000

guoodooooobobbbooooobobbbbbboooooooooo
state = S, N0y 1 = Opy1 A Opy1 — state := Sy
state = Sy, Aoy = 0,1 NOpy1 —> state := Sy

state = Sp, Aoy =054 NOpy1 —> state := Sy

000 (0o0Ooo0o0)

gbuogudboooobugoobodbbooboobbooooboobbuooog
gboboboogobbbooooboon
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3.2.2 0JO0O0OOOOO

oooboroboodboobobooboboboobobobobooobonog
rogbootbgoboboboboboboobobobobobobobobobon
oboorooooboooboboooboobooboobobobobooob  r=00000

0oo(Qoooon)

gbuogobodgbogobouobodgbouoobbuoobboboobbuooboobad
goboboooon

state = S,_1 Nop, =true NT =t, — state: =5,
state = Sy, AN opi1 =true NT =t, — state := S, 11
000000000 0Oo0o00oooooag

state = S, 1 N o, =true Ao, =true NT =t, — state:= S,

gboogbobbog20bgbobuoobboobboouoonboboboooboon
gbobbuooobbbuoooobbon

00O (ooooo)

gbobobobobbobobbobbobobbbbbbudooooooooooooooon
goo

000 (0o0Ooo0o0)

gbuogobodgbogobouobodgbouoobbuoobboboobbuooboobad
goboboooon

state = Sp_1 N op, = true A o,y =true NT =1, — state := S,
state = Sp_1 N opyy1 = true Ao, =true NT =1, — state:= S,

gbogbobbooobuodgbbogbuoobbooobbodgbooboboobbon
gbbobobbuoogbbbuooobbooooobbogo

25



0oo(Qooon)

gbuogobodgbogobouobodgbouoobbuoobboboobbuooboobad
goboboooon

state = S,_1 Nop, =true NT =t, — state: =5,

state = S, N'T =n — 0,41 := true; state := S, 1
O02000000000000000000000O0

state = Sp_1 Nop, =true NT =1t, — 0,11 := true; state :== Sy 41

gboogbobbog20bgbobuoobboobboouoonboboboooboon
gbobbuooobbbuoooobbon

000 (Qoon)

gbuogobodgbogobouobodgbouoobbuoobboboobbuooboobad
goboboooon

state = S, N o1 = true A o,y — state := S,
state = S, Ao, =true A, — state := S,y
state = S, Ao, =true A d,41 — state := S,y

gooooodooooooooooooon
state = S, N0, 1 = Opy1 A Opy1 — state := Sy
state = S, Aoy =0, NOpy1 —> state := S,
"

state = S, N0y 1 = 0pyq A Opp1 — state := Sy

gboogbobogbbuoobbduobooobobboobboboobobooon
gboogbugbodbbuoobbobuobbbobobbooboobboboboon
goboboooon
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4 [

Juoood

gboogodbbogbooobuogoooboobboobobogoboobobon
goboboodg

4.1 0OO0O0O0OOOO0O

gbuogobodbbooobobodgbbooboobbuoobbooobobuobon
0000000000000 00000 [13jo

4.1.1 OO

goobooboboboboboboobobbbbbbobobobobododoooouoooooon
g20000bdogboogb2b0g0bboobbuoogboogobbuoobboon
goboboogobbobooobboboogoobooo

HEN

gbuogudgbbuogboogbooobuoobobobboobbuoobobood
gboobobuogbbodbbboouobboobooobouoobbaboobobon
goboggbugobuooooboooobobuoobobogbboooobooboon
goboggbuogoobsugbbuoboboobbobbuogbboobobbooboon
gbobobooooboo
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goo

gbuogobogobuogoobbuoobbuooboobbuoooboooboooon
gbbboogboboougbbbouoggbbiliod2b0oggooogooboonoogo
gbobobogoobbboooboboogobobbuooobobobod

4.1.2 00OI/O0000O00O0ODOOO

0000000000000000001/0000000000000
0000010000000 00 =(S50,530,5,,,Co0,Fap)00000

Yoo ={00 (out),000 (4n),00 (int),00 (out)}
Soo ={0,1,2,3}

SODD = {0}

Cog = {rx} .
(0,1,00 (out), {z},0),
(1,2,000 (in),0, {x < 5}),
(2,3,00 (int),D, {x < 5}),
(3,0,00 (out),d, {x < 5})

EEIEI =

\

0000
000001/0000000000 =(S500,S300,5,,4,Coo0,Fang) 00000

Yooo ={00 (in),000 (out),00 (in),000 (int)}
Sooo =14{0,1,2,3}

Sonon = {0}

Cooo = {y}

( 3\

(0,1,00 (in), {y},0),

(1,2,000 (out),0,{1 <y <2}),
Enpn = .
(2,3,00 (in),0,0),
{ <3,0,D 0o (int),(l),(?)> )
ooono

000000000000 41000000000000000000000 (in)0(out)d
(it) 000 0000000000000 00000000000000O0O0O0O
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0 0 O (out) 0 oo@ny /1
z:=0 y:=0
OO0 (out) |z <5 goog(n)|z<5 000 (int) OO0 (out) |1<y<2
3\ OO 3\ O0(n) 2
z <5
oo ooo

0 41: 001/000000000000((@MOO0OOOO0)

4.1.3 O0O0OO0OOOO0OOOOOO0

O000000000o0o0o0oool/jooo00oo0o0ooo0ooooooooooo
goddd3iliggdooooobooooooboobobbbuoooooogoo
module 00 (00 O0O0O0OODO)

external 000,00 1,00 1;
interface U0, 00,000 1;
private state={0, 1, 2, 3}, 0 0O, x;

init
state:=0; 0 O :=false; 0 0 :=false; 0 0 O 1:=false; 0 O :=false;
x:=0;

update

| state=0 A O O 1=false A O O =true — 0O 0O :=false

| state=0 A O 0O 1=true A 0 O =false — 0 O :=true; x:=0;
state:=1

| state=1 A O0O=true A 00O 1=false A z < 5 — O
0 :=false

| state=1 A x <5 — 000 l:=true

| state=1 A 000 =true A OO =false A x <5 — 000
1:=false; state:=2
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| state=2 A x < 5 — O O :=true; state:=3
| state=3 A 0 O =true A x <5 — 0 O :=false
| state=3 A 00O l=true A OO=false A < 5 = O

[ :=true; state:=0
delay

| state=0 — true

| state=1 Az <5 —>2<5
| state=2 A x <5 =2 <5
| state=3 A x <5 — 2 <5

042: 0000000000000 (DOO0OOOOO :00)

module 000 (00000000)

external 00,000,000 1;
interface 00,00 1,00 1;
private state={0, 1, 2, 3}, 00 O, y;

init
state:=0; O O O :=false; 0 O 1:=false; O O 1:=false; O O
O :=false; y:=0;

update

| state=0 — O 0O 1:=true

| state=0 A O O O =true — 00 O :=false

| state=0 A O OO =false A O O=true — 00O l:=false;
y:=0; state:=1

| state=1 A 000 1=true A 1 <y < 2 — 000 :=true;
state:=2

| state=2 A 0 0 O 1=false A 00 0O =true — 0 O O :=false
| state=2 — O O :=false

| state=2 A OO0 =false A OO =true — 00 l:=false;
state:=3

| state=3 — 0O O O :=true; state:=0
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delay

| state=0 — true
state= <y<2—-1<y<
tate=1 AN 1 <y <2 1<y<2
| state=2 — true

| state=3 — true

043 0000000000000 (DOODOOOOO :00D0O)

obooooboboobboboobooboobuono 440000

4.1.4 0O0O0O0OOOOOOOO

gttbbdoggooooobbboooouoooobbooouooooooon
gods32tgoooooood
module 00 (00 O0O0O0OODO)

external 000,00 1,00 1;
interface U0, 00,000 1;
private state={0, 1, 2}, 0O, z;

init
state:=0; 0 O :=false; O [0 :=false; 0 O O 1:=false; 00 O :=false;

x:=0;
update

| state=0 A O O 1=false A O O =true — 0 0O :=false

| state=0 A O 0O 1=true A 0 O =false — 0 O :=true; x:=0;
state:=1

| state=1 A O0O=true A 00O 1=false A z < 5 — O
0 :=false

| state=1 A x <5 — 000 l:=true

| state=1 A 000 =true A OO =false A x <5 — 000
1:=false; 0 O :=true; state:=2
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oo

1(extl)=fase

O O (intf)=true

O

0O (intf)=false

0O 1(extl)=fase O O 1(extl)=true

O O (intf)=true

0

O (intf):=false

1

O O (intf):=false 0 O (intf):=true

/

0 O O 1(intf):=true

.

z:=0
O O (priv)=fase 0 0O (intf)=false
O 0O 1(exth)=true | O O (intf):=true 00O 0O (extl)=true | O O O 1(intf):=false
z <5 z <5
A,
_ z<5

O O (priv):=true

9

O O (priv)=true
00O (priv):=fase

g

00 O (priv)=true
00O 0O (priv):=fase

0
O O 1(intf):=true @

O O O (priv):=true

)

O 0 O (priv)=false
O O (extl)=true

0 0 A(intf):=false

y:=0

1<y<2

0 0O O (intf)=false
O O (extl)=true

0 0 A(intf):=false

00 4

goo

U044 000000000O00000OOOO4d
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O

O

O O O 1(extl)=true

0 0O O (intf):=true

Y

0 0 0O 1(extl)=false
O O O (intf)=true
0 00O (intf):=fase

intf):=true

(00oooooo)



| state=2 A 0 O =true A x <5 — 0 O :=false
| state=2 A 00O l=true A OO=false A < 5 = 0O

[ :=true; state:=0
delay

| state=0 — true
| state=1 ANz <5 —2<5
| state=2 A x <5 =2 <5

045 000000000000 (0000O0ODOOO :00)

module 000 (00000000)

external 00,000,000 1;
interface 00,00 1,00 1;
private state={0, 1, 2}, 00 O, y;

init
state:=0; 00 O O :=false; 0 O 1:=false; O O 1:=false; O O
O :=false; y:=0;

update

| state=0 — O 0O 1:=true

| state=0 A 0 O O =true — 0 0 O :=false

| state=0 A O OO =false A O O=true — 00O l:=false;
y:=0; state:=1

| state=1 A 000 1=true A 1 <y <2 — 000 :=true;
state:=2

| state=2 A 0 0 O 1=false A O 0O =true — 0 0 O :=false
| state=2 — O O :=false

| state=2 A O 00O =false A O 0O =true — O O 1:=false; O
0 O :=true; state:=0

delay
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| state=0 — true
|state=1 A1 <y<2—>1<y<2

| state=2 — true

046: 000000000000 (DOOOOOOO :00OD0O)

oboboodbooboobooboob470ognoO

4.2 OJO0O0OOOOOOO

gobobggobbogobobbuooobobbuooobbobuoooobbuoooboboa
gboogbdoobogbbuogbooobuogboboobbooobooboboobobon
gboodgbbobbbogboobboobboobboodobbooboboobooon
gboobodgbbobuooboboobuooboboobboobuoooooboobbon
gobogobuogugbooobuoguobogbboobooobuoobonoboobn
googobuodbbogbogobboboguogbooobuoboooboobobon
goooo

e ]JJU0DODDDODODOOOOOOODDODODO (Schedule and Assign Tasks, SAT)

0000000000 (Modify Design, M D)

000000000000 (Review Design, RD)

000000000 (Modify Code, MC)

00000000000 (Modify Test Plan, MTP)

0000000000000 000 (Modify Unit Test Package, MUTP)

00000000 (Test Unit, TU)
e J00OIDOOODBDO (Monitor Progress, MP)

goobbbobooosbbbbbbuduooogg3bbbbbboooooboogd
00080000000 ODODOOOODOO [14]0
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00O 1(extl)=fase
O O (intf)=true
0 0O (intf):=false

0 O (intf)=false
0 O 1extl)=true
O O (intf):=true

z:=0

O O 1(extl)=fase
O O (intf)=true
0 O (intf):=false

0 O O A(intf):=true

O O (intf)=false
0 0O O (extl)=true

z <5

00O (priv)=fase
O O 1(extl)=true

z <5

0 O (intf):=true 0 0O O 4(intf):=false

@ O O (priv):=true

O O (priv)=true
O O (priv):=false

go

O O O (priv)=true
00O 4 (priv):=false

O O O (priv)=false
O O (extl)=true

0 0 A(intf):=false

y:=0

O O 1(intf):=true

0 O O 1(extl)=true

1<y<2

0 0 0O (intf)=false
O O (extl)=true

0 0O O (intf):=true
O O O (priv):=true (int)

O O 1(intf):=false

O 0O O 1(extl)=false
O O d (intf)=true
0 0O 0O (intf):=fdse

O O 1(intf):=true

goo

047 000000000000000C0OO((@MOOOOOOO)
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gboogbobubuodgbbdodobooobudg gboobbobooooboboboo
gboogbuoguboogbuogobbuoobbuodobbodobbooooboboon
gbogboboobbodbboobobbuoobbobobuoobbuoobboobon
gboobogoboobogooboo

gouogoobooobtd gdbduobobboooboobbobboobooooban
gogobogobodbbuobobuogobuoobbooboobobooobooon
gbobogdbugogobuoobuodgbobobuoobboboobooobboobooon
gbooboogg

gboogobobodbb toobobodobobbbooobuoobboobobobon
guodgoooobuooooobbbobouooobbuooouuuouoooooogo
gbodbbodobobbuoooobboduobboobbuooboobooboon
gogbbdbooooboogbbogbbogbobbboobobbuoobboonooo
gogoboobobboogbbobuoobboobboobooobobbooboan
goobdad

googobodb buogbbobuoobbbodobuooobuoobooooboboban
gbogbobodbuooboobuooboobbuoobbboobooboboobbon
gbbboooobbbooobbbboooobbbuooobbn

gboogobuodbobd obbodbobbouoobbobuoobbobooboboo
gboobobodbuogbboobuooobuoobobobbuoobooboboobbon
gobobooobobbogobbooobbbuooobbobuooobboooobood
oboobooboboobbooboobooboobo MUTPODOODO

googooobogboooobd gobuogbobboogboooboobobon
gbogobgbooobooobogbuoobbuoooboobuogbboobboon
goboooobbobbbbbbbbbooobbbbdduogooooooooon
godbboobobbuooboboobobobbuoboobbooboobboobon
gbbogdbboobuooobbdobuoobobooobooobobooboboooobg
gboogobodbobugbooooobuoobboogbuogbooobooboban
gbobobuoogobboboogooo
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gboooobod bbudbbdobooobbobboobooobuoobobbon
gboobobuogbbuoodbobogboobboobboobbuoobboobobobo
gboogobbooobuoobooobbbooboobbodgbooboboobbon
O000000000000000000D000000000000000 0% 00000
O0000000000D000oooooooooo % oooooooooooo
gboboogobbuoobbbuooobboooobboooobobooooboboo
gooobbobbbbbbbbbbboboboboouoououuuuuoooooooooon
gbobbuoooobbbooobbbbouooobbbooagon
gobogboboobbbbbtidddddddooooooooooooooon
gbobogbooboobooobobooobobbooobooobooboooobooon
gobbuooogbbobooooboboo

googoobuodbn ogbboobobbbooboobuoooooboobobon
gboboogboogbuobooboobobboboboobboooboboooboon
gboobobuogbbbbuoobooobobboobboobobuoobooboon
gbogbobuodgbboobobuodobboobbobboobooboboooboobon
gbobogobuogugbbogbogooobooboobbobuoobbooboon
0000000000 (0O0OocCcBOOO)00OOOoOOoOoOoOoOoOoOoOoOoOoOoOoOoO
cCBOOOOOooOoobOobooooooobooboboboboooooboooboDbooo
gbobouooobbooobbbooobobbuoooboboooobboooboboboo
gbobouooobbodoooo1bbon

4.2.1 OO

000000000080 000000000OO0ODOO (TU)bDOOoODOoO0OOd

gbobogbuogoboodobbodobbooobobobuoobbooobodgboo
gbooggbugobuoogoboooboobbbobooboboboobooboon
gogbogobogbbobboobuooboobuoobbuoooobobooboon
gouogobodgbuodbboobuooobboobuoobobobboobooooban
gbogbuogdbbodgbbuogobuooooobbuoobbuoobuoobbooboo
gboogbuodgbbuooboobbuoobobbuooboobobboobboboon
gooooobbobbbbbbbotbotoddddduodooooooooooooon
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Schedule and Assign Task
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048 000000000000 DO0ODOOODOO0ODOOO0

gooobbobbbbobbbbbbbbbootouououooooooooooooon
gobbobobobbbbbbobobobbuddoooooooooooooooooon
godbbdbuooobuoobogbuoobuoobobbuooboboobbooboon
gbobogobubogbgbuogobuogbbuooboooboobobuoonobodoog
0000000000000 /jo000000oo0o0ooOo0o0o0ooooooooooO

0 [15]0

4.2.2 0O00OI/O0000CO0O0OODOOO

000000000000000/O000000000000
000001/000000000000000 =(Ss0000000,S00000000,

Coooooooos Eooooooon) 00000

Sooooonon ={0000000000000 (in),00000000000
00 (in),0000000000 (int),0000 (out),00 (in),00 (in),O
00000000 (eut), 00000000000 (out),0000000000
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0000000 (out),0000000000 (out)}
Sooooonon = {TU0,TUL, TU2, TU3,TU4, TU5, TU6, TUT, TU8, TU9}
= {TU0}

SODDDDDDDD

CDDDDDDDD :(ba

( 3\

TUO,TUL,DO000000D000000 (in),0,0
TUO,TU2,0 000000000000 (in),0,0
TU1,TU3, 0000000000000 (in),®,0
TU2,TU3, 0000000000000 (in),d,0
TU3,TU4,0000000000 (int),0,0),
TU4,TU5,0000 (out),, D),

TU5,TU6,00 (in),0,0),

TU5,TU7,00 (in),0,0),

TU6,TU9, 000000000 (out),d,d),

TUT,TUS, 00000000000 (out),d, ),
TUS,TU9,00000000000000000 (out),,d),
TU9,TUO, 0000000000 (out),d,0)

EEIEIEIEIEIEIEID =

N o~ o~ o~ N o~ o~ N N o~~~

r

gooo
000000000000 49000000000000000000000 (in)0(out)d
(it) 000 0000000000000 00000000000000O0O0O0O

4.2.3 O00OO0OOOOOOOOO

001/O000000000000000000000O0O000OOO0OooOoOOoDO
goodooo3obbobuouooon
module 00000000 (Test Unit)

external 00000000 OO0OO,0D00O0bOo0obooOobooboOo,ob,
go,gdbbl,booggbbogu ,gbbogbboobbn,ooon
gbobooooobbodggl,buooogbboa 1

interface 1000, 000000000, 00000000000,0000
gboboobouoggobbbo,oggbbobboug,gbobbbodaodn
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good aoon

goooogoobood goooogoood
(in) (in)

=5 00000000
v oooo oooo TU3 00 (int) U
0ooo0oooo 000000000 '\\

(in) (in)

oooo
oooo 0000 (out)
O O (out)
0o0ooo0o0oon
(out) O O (int)
T T
YN oooooooooo US
ooooooo _
(out) 0oooo0o0o0o0o0oo 0 0 (int)

TU8 TU7

(out)

0 49:001/000000000000(@MOOOOOOO)

0001, 0000000000000 1,00 1,00 1,
private state={TU0, TU1, TU2, TU3, TU4, TU5, TU6, TU7, TU8, TU9},
OoOoooooooo;

init
state:=TUQ0; 00 0O O00ODODO 0O :=false; 0 0O OO :=false;
O0000000D0:=false; 00 O0000O0OOONO :=false;
0000000000000 DOO000:=false; 00000
O0000O:=false; 00 DDO0O00OO0O0O0ODODO 1:=false;
0000000000000 1:=false; 00O 1:=false; OO
1:=false;

update

| state=TUO A DO OO0O0O0000O0 1=false AODOODO
O00000=true = 0000000000 :=false
| state=TU0 - 0000000000000 l:=true
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| state=TU0 - 0000000000000 l:=true

| state=TUO A DODODOOOODOODOO=false AODODOO

000D000D00D0=true—-000000000000O

1:=false; state:=TU1

| state=TUO A OO OD0ODOOOOO0O0O=false AOODODO

O00000D00D0=true—-000000000000O

1:=false; state:=TU2

| state=TUl - 0000000000000 l:=true

| state=TUl AODOOODOODOOOOOOO=true - 00

00000000000 l:=false; state:=TU3

| state=TU2 - 0000000000000 l:=true

| state=TU2 A0000000000000=true —» 00

00000000000 1:=false; state:=TU3

| state=TU3 - 00000000 0O 0O :=true; state:=TU4
| state=TU4 AODDOOOOOOO00OO=true—-00000

00000 :=false

| state=TU4 A DDDODO 1=true AOOOODODOOODOO

=false — O O O 0O :=true; state:=TU5

| state=TU5 A 0000 1=false A D0 0O0O=true - 00

0 O :=false

| state=TU5 — O O l:=true; state:=TU6

| state=TU5 — 0O 0O l:=true; state:=TU7

| state=TU5 A 0 OO0 =false A 0 O =true — 0 O 1:=false;
state:=TU6

| state=TUS A 0 000 =false A 0 O =true — 0 O 1:=false;
state:=TU7

| state=TU6 ADDOO0O0O0O000 1=true - 00000

0 00 O :=true; state:=TU9

| state=TUT ADDOO0O0O0O0O00O0O0O 1=true - 000

00000000 :=true; state:=TUS8

| state=TUS AODDODODOOOOOOOO=trueAOOODO

0000000 1=false = 00000000000 :=false
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| state=TUS A DO ODOO0OD0O0O0OOO0O=false AOODODO
00o00ooooboooboon 1=true - 00000000
Jooddoooono :=true; state:=TU9

| state=TUIAODODODOOOOOO=trueADDOOOOO
000 1=false - 000000000 :=false

| state=TU9ADDOO0O0O0O0O0OOOO0DOOOOOO=true
ANODO0ODOOOD00O0D0O0000000 1=false =000
0000000000000 d:=false

| state=TU9 A DO DODODOOOO0O=false ANODOODODO
O00000000000=false A ODOOODOOODOO
l=true —» 00000 0OOO0O O :=true; state:=TUO

delay

| state=TUO — true
| state=TU1 — true
| state=TU2 — true
| state=TU3 — true
| state=TU4 — true
| state=TUS — true
| state=TU6 — true
| state=TU7 — true
| state=TU8 — true
| state=TU9 — true

0 410: 0000000000000 (DOOOOOOO)

oboooobooboobooboobo4110000
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oooooooo

oooooooo

00000 1(intf):=true

0oooooooo
0 0 A(extl)=false 0 0 (intf)=faise
oopooooo0  ppoppoooooo Oooooooo po00DO00D
0 O (intf)=true 000 (ext)=true 0 O (priv)=true
oooooooo 000D (exd=true oooooooo
0 0 (intf):=false 0oooooooooo 00 (priv):=false
0 0 O Lintf):=false 0ooooooo
oooooooo DDD_DDDDD 00000 A(intf):=false i
00000 A(intf):=true DWDWD(ISﬁ%:fDaISED
oooooooo
00000 (extl)=true ooopooooooo 0000000000 00 (priv):=true

00 O (extl)=true

0 0 O A(intf):=true

pgooooooooo

0 0 O i(intf):=true oooooooo

00000 1(intf):=fase

oooooooooon
00 0 1(intf):=false

goooooo

00 (intf)=false

gooooooo

0 O 1(extl)=true

gooooooooo
poooog

0000 Iextl)=true
gooooooo
00O (priv)=fase

pooooooo

0 O (intf):=true 000 O (intf):=true

(intf)=false gooooooo 0000 (intf)=false
0 0 1(extl)=true 0 O (extl)=true
Ooooooo 0 O A(intf):=false 0000 Lextl)=fase
Ooooooo 0 O (intf):=true 00D (inth=true
0 O (intf)=true 000 O (intf):=false

ooooooo
00 1(extl)=false %%%?%Eam
0oooooo intf)=false )

" 0 O 1(intf):=true
00 (intfy:=false nooooooooon 0000 (intfy=false

oooooodzl

0 O (extl)=true 0 O 1(intf):=true

Ooooooooon
0ooo (ext)=true 0ooooooo
(intf)=true 0 00 1(extl)=true
poooooonoo R gooooooo 0 O 1(intf):=false
poooooon: DD-DDDDD 00O (intf):=true
= (intf).
(extl)=false (intf):=true
gooodoooono
goooooo gooooooo
(intf):=false 000 (intf)=true

gooooooog
000 1(extl)=false
gooooooo
0 0O O (intf):=false

0 411: 0000000000000 0O0O0OO0OO0(OOOO0O0O00OD0)

4.24 0O0O0O0O0O0O0OO0OOOO

gooobuogboobooobbobooooboobooboobomooboboon
gdddoooooobbbbboooooooooboobooooboboobon
module 00000000 (Test Unit)

external 0000000000000, 0000000000000,00
00,00001,0000000001,000000000001,0000
0000000000000, 0000000000 1,

interface 000, 000000000, 00000000000,0000
0000000000000,0000000000,0000000000
000 1,00000000000001,001,001;

private state={TU0, TU1, TU2, TU3}, 000000000 0;

1nit
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state:=TUQ; OO0 0000 O ODOO :=false; O 0O 0O O :=false;
O00000000:=false; 00 O000D0OOODOO :=false;
0000000000000 DOO00O0:=false; 00000
O0000O:=false; 00 DDO0O00OO0O0O0ODODO 1:=false;
0000000000000 1:=false; 00O 1:=false; OO

1:=false;
update

| state=TUO A DO OO0O0O00000 1=false AODOODO
O00000=true - 0000000000 :=false

| state=TU0 - 0000000000000 l:=true

| state=TU0 - 0000000000000 l:i=true

| state=TUO A DO OD0ODOOOOO0O0O=false AOODODO
O00000000=trueAODO00OO0OODODODODOO
=true - 000000000000O0O l:=false; 0000
000000000 l:=false; D0 O00D0D0O0ODOD :=true;
state:=TU1

| state=TULAODDOOOOOOOOO=true—»00000O
00000 :=false

| state=TUL ADDODODO 1=true AOOOODODOOODODO
=false — O O O 0O :=true; state:=TU2

| state=TU2 A D000 1=false AOOOO=true - 00
0 O :=false

|state=TU2AD0000=false N\ OO=00 AO0OO0OOO
000 1=true - 0000000 O O :=true; state:=TU3
| state=TU2 A DO0O0O=false AN OO=00 AO0O00OO
0000000 1=true A 0ODOOOODOODOODOO
000 1=true - 00000000000 :=true; 0000
O000oooononDoOd:=true; state:=TU3

| state=TU3 ADODODODOOOOOOOO=trueAOOOO
0000000 1=false = 00000000000 :=false
| state=TU3 ADODOOOOOOOO=trueADODOOODO
000 1=false - 000000000 :=false
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| state=TU3 ADO000000O00O00O0OOOOQO=true
ANODO0ODOOOD00O0D0O0000D000 1=false =000
0000000000000 d:=false

| state=TU3ADODOOOOOOOO=false AODOODOODO
O00000D000D0O0=alseANDO00OOOOOODOO
=false N\OOOOOODOOODO 1=true—- 0000000
0 0 O :=true; state:=TUO

delay

| state=TUO — true
| state=TU1 — true
| state=TU2 — true
| state=TU3 — true

0412 000000000000 (0DO00O0O0OO0O0O)

gbobbuoogobbbooobbobodu 4130000
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0000000000 Lextl)=fase
0000000000 (intf)=true

0000000000 (priv)=true
0000000000 (intf):=fase

0000000000 (priv)=fdse

ooooooono

TUO
000 00O Aintf):=true

0000000000 (intf)=fase
0000000000000 (ext)=true
0000000000000 (extl)=true

TUl

J

oooooooooo
0O O 1(intf):=true

0000000000 I(ext)=true
000000000 (ntf)=fase
00000000000000000 (intf)y=fase
00000000000 (intf)=fase

ooooooo
0 O (intf)=true
ooooooo
0 O 1(extl)=false
ooooooo
0 0O (intf):=false

0000000000 (intf):=true

0000000000000 A(intf):=fase
0000000000000 A(intf):=fase
0000000000 (priv):=true

0000 (intf)=false
00 (ext)=0 0
000000000 Lextl)=true

0000 1(extl)=true
Do0o0oooood (priv)=fase

S

0000 (intf):=true

0000 I(extl)=fase

/ﬁn

gooooooooo
ooooooo
(intf)=true
ooobOoooooo
oooooool

oooooooo
00 O (intf)=true
oooooooo
00 O Lextl)=false
oooooooo
00O (intf):=false

(exg?:false
gooodooooo
ooooooo
(intf):=false

000000000 (intf):=true

0000 (int)=false
00 (extl)=0 0
00000000000 1extl)=true
00000000000000000 i(ext)=true

0000 (intf)=true
0000 (intf):=false

D

.

00000000000 (intf):=true
000000000000 000O0OOd (intf):=true

0 413: 00000000000000000((@MOOOOOO0)
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gboobooogn

000 (CoO0O0O0) boo0o0oooooOooo I/oo0ooooooooooooooo
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gbboogobbuooobbboooboooobouoobobboooboboo
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goddbbobotbooooddooboobbbbobobboooobbbbouuuoug
gobboooubboodoboboooobboooobboooubbooooobo
googgobboobobdgoogobooboodoouogooobooooon
godtdotobbobbdddoubooduuoogooooooobooboooboa
000000000000000000000 (0D000)DoDoooOoooooooDoo
(0000)DooooOoOoOOoOooOoO0OoO (DobooooL)Doooooooooooo (o
00o000000)00o0o0o0o0o0O (Dooo)b0oooooooUoooUoOo (o
O0000oooOO0)0ooo0oo0oo (booo)ooooooooooI1/oooooo
gudooooooobobbbogo

0000000 = (Xgpooooo, Sooooooos Soggousess Cooooooo, Eooooooo)
goodg

Yopoopooo ={0000 (out),0000 (out),0000 (out), 0000 (in)}
Stoooooo :{CC'BO,CC’BI}
SODDDDDDD :{CCBO}

ODDDDDDD :(ba

EDDDDDDD =
\

(CCBO,CCB0,0000 (out),d,0),
(CCB0,CCB0,00DOO ( )

(CCBO,CCB1,0000 (out),d,0
(CCB1,CCB0,0000 (out),,0

\

0000000000000 00000000 = (Xgpooooooooooooooooooos

95



0 A1:00I/JOD0OO0O0O00O0000OO (booooon)

0000 (out)

cceo\ 0000 (out) /CCB1
) >
0000 (out)

000 O (in)

T

0 A2 00I/OD00O0O0O0O0OO00O0OO (booooon)

SnoD000000000000000000) 90sn00000000000000000002 CO000000000000000000000

Enppooooooooooooooooon) 00000

Yooooooooooooooooooooo ={0000 (n),00000000000
000000000000 (int),0000 (ir),0000 (in),0000000

0 (out),00000000000000000 (out), 0000000 (out),O
0000000000000000000000 (out)}

Sonn000000000000000000 = {SAT0, SAT1, SAT2, SAT3, SAT4,SAT5, SAT6, SATT}
Sos00cooo0oooocoooonoon = 19AT0}

ODDDDDDDDDDDDDDDDDDDDD :wa

EDDDDDDDDDDDDDDDDDDDDD =

(SAT0,SAT1,0000 (in),0,0),
(SAT1,SAT2,00000000000000000000000 (int),0,0),
(SAT?2,SAT3,0000 (in),0,0),

(SAT3,SAT4,0000 (in),0,0),

(SAT4,SAT5, 00000000 (out),, D),
(SAT5,SAT6,00000000000000000 (out),,d),
(SAT6,SAT7, 0000000 (out),d, D),

(SAT7,SAT0,0 0000000000000 OOOOOOO000 (out),?,0)

\ 7

0 A3: 001/000000D0000O00(0000000000000000000
0o)

26



SATO

-

000000000000
00000000000 (out)

(9
\

0000000 (out)

oooo
oooo
O O O (out)

OO
oo

O

O

g
¥

0000 (in)

g
NI

&
NI

'y
d

0000000000o0O
000000000000 (in

T2

0000 (in)

&
N

T3

0000 (in)

K

A

oooo
0000 (out)

T4

0 A4: OO0 I[JOODD0OOO0O0O0ODOD (DODDODOODODODODODODODODODOOOOOO

0o)

nooooooogo :<EDDDDDDDDDD,SDDDDDDDDDD,SUDDDDDDDDDD,CDDDDDDDDDD,

EDDDDDDDDDD>D oooo

Yooooononon ={00000000000000000 (in),00000
0000000 (in), 000000000000 (int),0000 (in),0000
0000 (out), 000000000000 (out)}
Soooonoooon = {MD0, MD1, MD2, MD3, MD4}

= {MDO0}

SODDDDDDDDDD

CDDDDDDDDDD :ma

4

EDDDDDDDDDD =

o~ o~ o~ o~~~

MDO,MD1,00000000000000000 (in),,0),
MDO,MD1, 000000000000 (in),0,0),
MD1,MD2,000000000000 (int),d,0),
MD2,MD3,0000 (in),0,0,),
MD3,MD4,00000000 (out),d,0),
MD4,MD0,000000000000 (out),d,d)

o7

\




0 A5 00I[/O0DD0DOOO0ODO0OOO0OO (DO0DOOoooOooDoOon)

gooaod
gboooobgn

00 (in) MD1I

ooooo \\

0o0o0o00oo(n

oooooo
000000 (out)

000000
000000 (int

A
DDDD@)\ff}

0 A6:O00I/O0DD0DOOODOOOO0OO (DO0DOOoooooOon)

oooo
0000 (out)

oobooooboodod :<EDDDDDDDDDDDD7SDDDDDDDDDDDDaSODDDDDDDDDDDDa

CDDDDDDDDDDDD)EDDDDDDDDDDDD>DDDDD

Soooooonoooon ={00000000000000000 (in),0000
0000 (in),00000000000000 (int),000000 (in),00
0000000 (ow),0 00000 (n),0 00000000000 (out),0
0000000000000 0000000000 (ewt),00000O00ODOO
00000 (out)}

Soooooooooooo = {RD0,RD1,RD2, RD3, RD4, RD5, RD6, RD7}
Sopn0a00000000 = HRDO}

CDDDDDDDDDDDD :(/),

EDDDDDDDDDDDD =

28



(RDO,RD1,0000000000000O0DO0O0 (in),0,0), )
(RD1,RD2,00000000 (in),0,0),
(RD2,RD3,00000000000000 (int),d,d)
(RD3,RD4,000000 (in),0,0),

(RD4,RD6,00 0000000 (out),d,0),

(RD3,RD5,000000 (in),0,0),
(RD5,RD6,000000000000 (out),,0),
(RD6,RD7,000000000000000000000000 (out),®,d),
(RD7,RDO,00000000000000 (out),d,0) )

\

O A7 00[/JOD0OOOOOO0O0O0O0O0(DOooOooOoOOoOoOoOoOn)

RDONOODDOOOOODODDOOOOODODO(in)/ RD1

goooboooo

000000 (out) 00000000 (n)

. Ooo0oooooa
O0O0(@n
(in) Ooogoad(nt

ooooo
0000 (out)

oooobooooono
goooboooobooo

00000 (out

=

ooooo
0000000 (out)

0 A8 00I/O0DD000OD00O0OD0D0OO (DDoOoOoOon)

poooodood :<ZDDDDDDDDD,SDDDDDDDDD,SUDDDDDDDDD,CDDDDDDDDD,
Enppooonopp)00000

Sonoonoono ={00000000000000000 (ip),0000000
0000 (in),00000000000 (int),000000 (in),000000

29



00 (in),000000 (in),00000 (int),0 00000000 (out),0O
000000000 (eut), 00000000000 (out)}
Sooooonoonn = {MC0, MC1, MC?2, MC3, MC4, MC5, MC6, MCT, MC8, MC9, MC10}

SODDDDDDDDD

= {MC0}

Choooooooo :{mc}a
4

EDDDDDDDDD :%

(MC0,MC1,00000000000000000 (in), me := 0,0), )
MCO,MC1,00000000000 (in), me == 0,0),
MC1,MC2,00000000000 (int), D, me < 5),
MC2,MC3,000000 (in),0,me < 5),
MC3,MC4,00000000 (in), 0, me < 5),
MC4,MC5,000000 (in), 0, me < 5),

MC5,MC5,00000 (int),d, me < 5),
MC5,MC9,00000000 (out),d, me < 5),
MC2,MC6,00000000 (in),0,me < 5),
MC6,MC7,000000 (in), D, mec < 5),

MC7,MC7,00000 (in),D, me < 5),

MCT,MC8,000000 (in),0,0),

MC8,MC9,00000000 (out),D, me < 5),

MC9,MC10,0 0000000000 (out),d, me < 5),
MC10,MC11,00000000000 (out), d, me < 5) J

(
(
(
(
(
(
(
(
(
(
(
(
(
(

0 A9 00I/O0DDDOO0ODOOOODDO0OO (D0DOODODOOO)

poooouoogo :<EDDDDDDDDDEMSDDDDDDDDDDaSODDDDDDDDDDaCDDDDDDDDDEM
Eopoooooonn) 00000

EDDDDDDDDDD :{DDDDDDDDDDDDDDDDD(Zn),DDDD('ln),l:'
00000000000 (nt),000000 (ewt),00000000O0OOO

O (out)}

Stooooooooo = {MTPO, MTP1, MTP2, MTP3, MT P4}

ODDDDDDDDDD

= {MTPO}

CDDDDDDDDDD :ma

60



oooooo
gooobooog

00 (in)
mc:=0
0oooo -
Ooo0000 .
Soooo i 000000 (in)
0ooo me:=0 me<5 me<S

O O (out)

mc<5
gooooood
(in)

mc<5

oooooon oood
god . gooad
0 O (out) o0ooood(in (in)
me<5 1139 me<S mc<5

00000000 (out)

A
0ooooo me<S
O O (out)

mc<5 0O00gdao(int)
GC? mc<5

000000 (in)

me<5 M Cﬂ

MC8
000000 (n) \\//

mc<5

O0ogo(nt)
mc<5

0 A10: 00 I/O0D00O0O0OO0ODODOOO0OO (D0DO0OoOooODoOO)

MTPO,MTP1,00000000000000000 (in),0,0), )
MTP1,MTP2,0000 (in),0,0),
MTP2,MTP3,000000000000 (int),0,0),
MTP3,MTP4,000000 (out),d,0),
MTP3,MTP4,00000000 (in),0,0),
MTP4,MTPO,000000000O0O0O (out),?,0) )

EDDDDDDDDDD =

o~ o~ o~ o~~~

\

oooooooodoboodod :<EDDDDDDDDDDDDDDD7SDDDDDDDDDDDDDDD)

Sﬂggggggggggggggga CDDDDDDDDDDDDDDD) EDDDDDDDDDDDDDDD>D ooodd

61



0 Al1l: 0000000000000 0 (D0DO0Ooooooon)

MTPONO O OOOOOOODOOCOOOOO0OO(@Gn)/MTP1

gooood

000000 (o) oooodn

) ﬂﬁ%\ MTP2
\__/

oooooon

00o0ood (out) OO0D0D0O0d(int

0 Al1200/O00000000000 (D0O0OOoOoODoOnO)

0000000 00n0oon ={000000000000 (),0000000
0000000000 (in),0000000000000C0O0O0O0 (nt),00
(in),0000000000 (), 000000000 (m),000000
(in),00000000000 (euwt),00000000O0O0OOOOOOO

O (out)}

Stooooooooooooon = {MUTPO, MUTP1, MUTP2, MUTP3, MUT P4, MUT P5, MUT P6, M
— {MUTPO}

HEN
HEN

SUDDDDDDDDDDDDDDD

CDDDDDDDDDDDDDDD :(Z)a

EDDDDDDDDDDDDDDD -
( (MUTPO,MUTP1,000000000000 (in),0,0), )

MUTPO,MUTP1,00000000000000000 (in),0,0),
MUTP1,MUTP2,00000000000000000 (int),,0)
MUTP2, MUTP3,0000 (in),0,0),

MUTP3, MUTP4,0000000000 (in),0,0),
MUTP4,MUTP5,000000000 (in),0,0),
MUTP5,MUTP6, 00000000 (in),0,0),

MUTP6, MUTP7, 00000000000 (out),d, D),
MUTP7,MUTPO,00000000000000000 (out),n,0)

P N N N

Ve

0 A13: 0010000000000 00 (000000000000 OOn)

62



gooooo

mutpoy 22 8E000) & ey
/000000000 \_

ooooooooooo ooooooooooo
000000 (out) 000000 (nt
4
A
ooooooooo 0000 (in)
0 0O (out)
4
A
oooo oooo
000 O(n) 0ooood(n
4
MU%‘ mTM

000000000 (n)

0 Al14:001[j)O0D00O0O0O0O000O00(DOOOOOO0OO0O0O0O0OOoODn)

oooooooo = <ZDDDDDDDD,SDDDDDDDD,SODDDDDDDD,ODDDDDDDD,EDDDDDDDD>
ooooo

Soonnopon ={0000000000000 (in),00000000000
00 (in),0000000000 (int),0000 (out), 00 (in), 00 (in),O
00000000 (eut),00000000000 (out),0000000000
0000000 (out),0000000000 (out)}

Sonoooono = {TU0,TU1,TU2, TU3,TU4, TU5, TU6, TUT7, TU8, TU9}
So. s onnnnn = {TUO}

CDDDDDDDD :(ba

63



TUO,TU1, 0000000000000 (
TU0,TU2,0000000000000 (
TU1,TU3, 0000000000000 (in
TU2,7U3, 0000000000000 (
TU3,TU4,0000000000 (int),0,0),
TU4,TU5,0000 (out),,d),

TUS5,TU6,00 (in),0,0),

TU5,TU7,00 (in),0,0),

TU6,TU9, 000000000 (out),d,d),

TU7,TUS, 00000000000 (out),d,0),
TUS,TU9,000000000000000O0 (out),,0),
TU9,TUO, 0000000000 (out),d,0)

(
(
(
(
(
EDDDDDDDD:{ Z
(
(
(
(
(

\

0 Al 00/O0000000000O0((@MO0OO0O0O0DOO)

nooooooogo :<EDDDDDDDDDD,SDDDDDDDDDD,SUDDDDDDDDDD,CDDDDDDDDDD,
Enooooonooon) 00000

Soonoonoooo ={00000000000000000000000 (in),0
00000000000 (nt),00000000000000000000
0000 (in),0000000 (in),0 0000000 (eut),0000000
0000000000 (out),0000 (in),0000 (out),00000000
0 (in),000000000000 (out)}

Soooonoooon = {MPO, MP1, MP2, MP3, MP4, MP5, MP6, MPT}
Souusoonunnn = 1MPO}

CDDDDDDDDDD :ma

EEIEIEI[IEI[IEIDDD =

64



good
goooogoobood goooogoood

(in) (in)

5 00000000
v oooo oooo TU3 00 (int) U
000000000 000000000 '\\

(in) (in)

oooQ
oooO 0000 (out)
oo

aoon

gooboobooooo

(out) 0 d (int)

TU9 TUS

gooobooogon

oooooog _
(out) 5\ 00000000000 o 0 (int)
U (out) U

0 Al6:0017/00000000000O0(MOOO0OOOO)

MPO,MP1,000000000000000000000O0 (in),0,0),
MP1,MP2,000000000000 (int),0,0)
MP2,MP3,0000000000000000000000003 (in),d,0),
MP3, MP4,0000000 (in),0,0),
MP4AMP500000000 (out),®,d)
MP5,MP7,00000000000000000 (out),®, ),
MP2,MP6,0000 (in),0,0),

MP6,MP7,0000 (out),,),

MP2,MP7, 000000000 (in),0,0),
MP7,MP0,000000000000 (out),,0)

N o~ o~ o~ o o~ o~ o o~ o~

0O Al 0000000000000 0 (D0DO0Ooooooon)

65




0000000000ooooooooooooo(in /MPL

oooooo
000000 (out)

000000
000000 (int

000000000 MP2

N

oooooo
O0ooooooo 0000 (ou)
0 O (out)

00O00(n)

(]

0o
ood
oood
ooo
oood
~ OO0
=2

OO
OO

M%\ MP4 /ﬁm

DDDDDDmem\\\// 000000 (in)

0 A1 O00I/O0000000OD00O00 (D0DO0Ooooooon)

0000 (0000) = (Eanoo (DDDD)aSDDDD (DD[IEI)aSODDDD(DDDD)aCDDDD (Dooo)s
Enoon (DDDD)>DDDDD

Sono0 @oooy = {0000 (out),0000000 (owt),0000000

O (in), 000000 (int)}

Soooo (DDDD):{Fanl}

S05000 @oon, = {£0}

Coooo (0ooo) :Qa

[ (F0, 70,0000 (out),,0), W
(FO,F0,0000000 (out), 0, d),

EDDDD(DDDD): .
(FO,F1,00000000 (in),0,0),

(

F1,F0,000000 (int),0,0) )

\

0 A19:001/000000000000 (0000 (@0000))

66



0000 (out)

FO\ 0O0D0O0O000O0(Gn) /Fl
le {
000000 (int

0000000 (out)

0 A20: 001/O00000000000(QO00(QO00))

0000000000000 (0000)=(snooooooooooon (mooo),

SDDDDDDDDDDDDD (DDDD)) SODDDDDDDDDDDDD(DDDD)’ CDDDDDDDDDDDDD (DDDD)?

Enpooooooooooo @ooo)) 00000

EDDDDDDDDDDDDD (0oon) :{DDDD (OUt),DDDDDDDDD (ZTL),D
00000 (int)}

Snoooooooooooo (Dooo) = {D0, D1}
— (D}

SUDDDDDDDDDDDDD (0oDD)

CDDDDDDDDDDDDD (D[I[I[I):(Z)a
(D0,D0,0000 (out), D, D),

EDDDDDDDDDDDDD (Dooo) = <DO,D1,DDDDDD 0o (Zn),®,®>,
(D1,D0,000000 (int),,0)

0 A21:001[/O00000O0O0O0O0O0O0O (000000ODO0O0O0O0O (DOoOn))

0000 (out)

0DooooQ

DO 0000 (in) D1
le {
000ooo(int

0 A22:001/O0000000000O0 (000000ODO0O0O00O0O (DOoOn))

000000000000 (000000) =(Xppooo0o000000 (o0o0n),

Soooooooooooo (0ooooo)s S04 00000000000 (ooooo)? Coooooooooooo (Dooooo)s

Enoooooooonooo @oooon)) 80000

67



EDDDDDDDDDDDD (ooooog) = {DDDDDD (OUt),DDDDDDDDD
0 (out),00000000 (in),00000000 (int)}

SDDDDDDDDDDDD (booooo) :{50751}

= {50}

SODDDDDDDDDDDD (oooooo)
Coonooooooooo @ooooo) =9,
S0,50,000000 (out),d,d),

[ (

(50,50,0000000000 (out),d, D),

EDDDDDDDDDDDD(DDDDDD): <SO SlDDDDDDDD(in)@@)
(

$1,50,00000000 (int),0,0)

\

0 A23: 001[/O00000000000 (000000000000 (DO0Oooon))
000000 (out)
SO 00000000 (n) S1
|« \
O0000000int

oooo
000000 (out)

0 A24:001[/O00000O0O0O00O00 (D0DOOCOOOOO0OOOO (DOOooon))

DDDDDDDDDDDD (DDDDDDDDD):<EDDDDDDDDDDDD (DDDDDDDDD))

Soooooooooooo (EIEIEI[I[I[I[I[IEI)aSODDDDDDDDDDDD(DDDDDDDDD)aCDDDDDDDDDDDD (Doooooooo)s

Egopooooooooo @oooooooo)) 00000

Yoooooooooooo (EIDEI[IEIEIEIEI[I):{DDDDDDDDDDDDD (out), 0
0000000000 (in),00000000000 (int)}

SDDDDDDDDDDDD (Doooooooo) :{00701}

= {00}

SODDDDDDDDDDDD (DDDDDDDDD)
CDDDDDDDDDDDD (DDDDDDDDD):(Z);
(00,00,0000000000000 (out),d,n),

Esooooooooooo woooooooo) =4 (00,01,00000000000 (in),0,0),
(01,00,00000000000 (int), 0, 0)

68



0 A2 001/000000000000 (D0O000OO0O0OOO(DoOOooOoOooOOo
0))

good
gbooooobgn

(out)
oo goooooooooad(in o1
) |
0oo0Oooooood(n

0 A26:001/000000000000 (D0O000OO0OOOO(DoOOoDOoOooOO
0))

DOO0O0000D(B000)=Coooooooo @ooo), S00000000 (0000)> S055000000 @oo0)?

ODDDDDDDD (DDDD);EDDDDDDDD (DDDD)>DDDDD

EDDDDDDDD (DDDD):{DDDD (Out),DDDDDDDD (Out),DDDDD
0 (in),000000 (int)}

Snooooooo (0ooo) :{TO,TI}
= {70}

SODDDDDDDD (oooo)
Coooooooo (0ooo) :wa
(T0,70,0000 (out),,n),
(T0,70,00000000 (out),,n),
EDDDDDDDD(DDDD):% .
(To,71,000000 (in),0,0),
(

T1,70,000000 (int),0,0)

\

0 A27: 00I/O00D000000000 (00000000 (0O000))

00000000000 (000000000) = (Xspooooooooo (000oooooo),

SDDDDDDDDDDD (Doooooooo)s SODDDDDDDDDDD (0oooooooo)?

CDDDDDDDDDDDDDDD (DOoooOoooon)s EDDDDDDDDDDD (DDDDDDDDD)>D oo

Yooooooooooo @ooooooooy = {000000000 (out),00000
00000000 (ewt), 00000000000 (¢n),0000000000
O (int)}

69



0000 (out)

To \O0OOOOO(Gn),/ T1
le {
000000 (int

o000
0000 (out)

0 A28:001/0O00000000000 (00000000 (M0O00))

SDDDDDDDDDDD (Doooooooo) :{P();Pl}
SODDDDDDDDDDD (oooooooo) {PO}
ODDDDDDDDDDD (DDDDDDDDD):(b;

( (P0,PO,00DODOOOO (out),0,n),

(PO,P0,0000000000000 (out),0,0),

EDDDDDDDDDDD (DDDDDDDDD): <PO Pl 00000000000 (’]/7’1/) (b (b>
(

P1,P0,00000000000 (int),d,0)

\

0 A20:001I/O0D000O0O0O0O0O0O0OO0 (D000ODOO0O0O0O0OO (DOoDoooOoO
0))

000000000 (out)

PO oooooooogodd(n) P1
I >
00000O0O0o00oo(int)

0ooo
000000000 (out)

0 A30: 00 [/O000O0O0O00O0000 (00000000000 (Dobooooo
0))

DOO000000(B000)=0ooooooo @ooo), S00000000 (M000) S0s000000 @ooo)?

CEIEIEIEIDDDD (DDDD)?EDDDDDDDD (DDDD)>DDDDD

70



EDDDDDDDD (DDDD):{DDDD (ZTL),DDDDDDD (Znt)}

Soooooooo (00DO) :{ROaRl}
= {R0}

SODDDDDDDD (0ooo)

Coooooooo @ooo) =0,

(RO,R1,0000 (in), 0, 0),
Esooooooo @wooo) =

(R1,R0,0000000 (int),0,0)
0 A31:00[/O000D0D0D000000(0DD0D000000D (0000))

RO\ OOO00O(n) /Rl
< >
googo

0O (int)

0 A32:001/000000000000 (00000000 (@QO00))

71



